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The figures in the margin indicate full marks
' for the questions. A

Answer question numbers 1,2 and 3 and

any four from the rest.
1 2, 3 9 ST IR o[ R CPIEH
56 Bev BRa

: Answer,elther in Engllsh or in Assamese.
TSGR (TR Be wRall
" 1. Choose the corrcct answer from the followmg |
' 1x10=10
@Wﬁ'aﬁﬂ§§§**ﬂ @ﬁiiNam$33taMEA©EWﬁn

(a) Managemernt theories develqped as a
-systematic field of knowledge since :
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() 1800 = (i) 1880
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“ }(b)' The concept of ‘libération management’ is (iii) resides planning

. advocated by which one of the management o . S
expert 7 : S '
gl AREER'T Wﬁm@ Wﬂﬁb‘lﬁﬂﬁ | (iv) incubates planning
o e =W ¢ L . ﬂﬁwwcﬁﬁaﬂww
(i) Peter F Drucker | | o : (d) The concept of Management by Objectlve is
. R 9T gRRRERE o | ~ propounded in the year : |
(i) Michael Porter - o - Eew i ofRoTewI pa—— ewm -
MR AR L | e B
(iff) Tom Petes o | @ 1930 © (i) 1950
%‘:1 f‘E’WW o | : | T 3890 B e .' .. 9%@0 BY®
‘ - - CGil) 1952 Gv) 1954

@iv) Chester I Barnard

53X BT® $5¢8 BH®
css%ﬁamf@am | | _

(e) Organisations where expert assistance is

| (c) Forecast is a planning premise that. : . provided to the line managers are :

"R T8 AR S L, R v, w0 e Ao ot R
@) precedes plannmg o | , SRR TRITO! Q@A 2H GIRRR 308 ¢
W FRE : | () Line organisation -
(u) succeedes plannmg o o _ P RN
ARTTITR AR | o (i) Functional organisation
L | : B ferrere wRRatén
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(m) ‘Line and staff® orgamsatlon

mwﬁ’l\m

(1v) PI'Q]eCt organisation

R STealye

(f) Ifaproduct passes through different stages of
‘Production, . the Suitable '
departmentation js -

W a% Beolfre wg Beotmery RiSw siffem
' Wm.‘mm Reifivasr Sorge

T T s

(i) 'Functiona'l deparlmentation j

(fi) Processl departmentatiop
s Rt

(111) Product depamnentatlon |
Bestifrs wy ﬁ@i‘ﬂtﬁq |

(“') Task departrnentatlon -
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form of

(@ Thebry Z is a synthesis of :
3q 7 RS
(@) Indlan ‘and J: apanese style of rnanagement

mﬁnwmﬁmﬁ“ﬁaﬁﬁmm

(ii) Chinese and - Amerlcan style of
management

(iii) Indian and American style of management

(iv) "American and _.Tapanese style of -
management :

Wwwﬁ‘mﬁaﬂﬁm

(h) Flow of information amongst departments and
at different levels is : '
Rfon R e Rfw mﬁw SR ZHR‘ 'frﬁ"ta
&= g
(i) Vertical communication
Tery AT A

(ii) Horizontal communication -
TS TR Al
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- (iii) Diagonal communication o o T (i) restraining forces are more powerful o
' o - . than dnvmg forces
. @?t%‘_,/ Rl st e ~ . U wﬁas
(iv) Informal communication , : - 'I%“ﬁ @ |
Wﬁﬁ* MASILIS | . (iﬁ) driving forces aré‘ more powetﬁll than
: | forces
(1) The exception principle to control means : g .. -Testraining .
‘ | wfge
e e IR IR A Tw wms S iR e e

: - e =
- (i) control over significant deviation ' 1 »rful o
e, . . . . . . . p an B
Stesifsf Rppfer esive Pt o | (iv) restrammg forces are less powe
. | | : driving forces.

Ao AR RSt a-q,'

- (ii) control over all deviations

W AN R e R - | . xfRerd =
. (iiif) control over riominal deviation . D 2. Give very ;hort answers of the following questions :
QR ﬁﬁﬂ"@ owe fmw. | (any five) ]  2%5=10
@) control over no deviation - | oo IR w@m a8 (R Pt =Aw51)
' RpfofRmem e Rmd ’ (a) State two contributions of Classlcal Theones}
. ) o S : of management. ‘
() Change can be implemented when : o | C siReleR e W Rew mﬁq @ﬁ |
. ﬂﬁa@ I R AR @fome . | R :
. (i) driving forces are equal to restraining (b) What are various inteﬁlal planning premises ?
forces ’
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(c) Give two differences between pohcles and .

procedures

[

Wﬁwﬁaﬁammm@ﬁm~

(d) State any two limitations of authority.

PR R @m‘iﬁmﬁ‘ﬁIW|

' (e) Explain job security and promotion -as two

forms of -non-financial incentives.

< REM B 551 1 Roteat ol it
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(f) -Explain management aud1
t as a
technique of control. modem

@ SYRT . G it
WWWI mp{

(g) State refreezing step of Changé pi'oCeés. |

' Wﬁ@ﬂﬁmﬁq.ﬂ?ﬁﬂ?ﬁﬁw|

Write short answers on the questlons below
(any four) 5x4=20

WWW@WW R oM sifey)

‘('a) Explain Taylor’s technique of functional
foremanship in his scientific management,
GTRY IR - ARAe, cods IR
IHNEAG TR IRO1 34| A

(b) Show how the 1plannmg and- dec1s1on-mak1ng
are related ? T :

R o B o ﬁsm wﬁ% 3
CW%@TI

(c) Wha@ do you mean by'matrix organisation ?
State two advantages of this organisation.

gmﬂ\ﬂbﬂqﬁm%{weﬁﬁ\mﬁ@taﬁw
a«ﬁr N

(d) Write an explanatory note on ‘Carrot and Sthk

approach’ of motlvatlon

- grelifredsat wm@mm 8IS . _.
@Wmml |

(e) Dlscuss the 1mportance of leadership in bnef

TP STY TR DA T

(f) Discuss the éxternal factors that necessitate

change.

WW@ WW@W
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4. Explain the Behavioura] ‘Science Theory -in the “

development of management thought. How. does
the theory differ from Human Re'latioﬁ’[:heory ?
- S - 5+5=10
TP | R B A i R ¥ R
AP 2

Or / S93t

Explain the Quantitative Theory in the development
of management thought. State three -poéitive
attributes and three negative impact of the theory.

- 4+6=10
ARSI BoR Sme e A0 PR 35y |
TR SR T o ww Rofr: o
oo I | |

. Describe various steps involved ip planr;ing
process. Also state three limitations of Planning

A ‘ . TH3=10
AT - e wfte @Rt vy g
Sl
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Y § [ »
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T | Or / SRt
Write six basic features of decision-making. And

show four main differences between programmed
6+4=10

and non-programmed decisions. &
. g oz B Gl @RY RN am of-
el ue ReReR B oife @
i ol |
6; What is ‘line and staff organisation’ ? What are -
its features ? State the merits of ‘line and staff
organisation”. o 2+43+5=10
e ois THIR R e TR WRERR B
ﬁ?‘tamwmﬂmﬁ’aqﬁmaﬁwl
Or / weRl |

Define authority. Also describe various sources or

theories of authority. 3+7=10

| me‘laﬁwW@mmwaﬁ.
A
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7. Explain Abraham Maslow’s theory of need hierarchy

of motivation. State the limitations of the theory.
6+4=10

ﬁ?M%FFNQEWWﬂﬂfmﬁﬁiﬁamﬁﬂwQQEHNW$ﬁ>4

oot TIOT TN | I SRAPRR 34 <4
- or/wmt

Explain Management Information System as modern

- technique of managerial control. What are the

features of this technique ? State how management

information system helps in managerial decision
making. .  2+4+4=10 °
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